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Read these Instructions very carefully before attempting questions in Part-II

1. U1 S A7 R, O]AT fb amup wder-ym 1. Please write your Roll No. as given
fsfaw T 3 s on your Admission Card very clearly
%?JTIRJT% R : (T M i (only one digit in one box) Please
T 31) | T8 W@%Eﬁéwﬁ?ﬁ{ see that no box is left unfilled even
T %8 ST | Res TR 3 37 a1 96 3 3 Zeroes appearing in the Roll No. are
ot ST 797 - 4RI U SR - TR e correctly transferred to the appropri-
aﬁ’azjﬁ Tﬂﬁﬁﬁﬁﬁi » ate boxes on the booklet and the
Rl Answer sheet.
SETERT : TA.ELYH.E. ¥ Example : for N.T.S.E.
3(0{1|13]0(4)0(3|2(1(5|]|2]|3([0]1(3]|0|4([0]3|2]|1]5
2. THUAWAGS 90 MARI AN S 2. There are 90 questions in this paper.
ST U o & | Each question is to be answered.
3. ¥ 90 yoA FfoRad Rvgiq gefig s S These 90 questions belong to the
' 2 following subjects:
1. i e 1. Physics
(pq d=ar 19 12) - 129 (S. No. 1 to 12) - 12 questions
2. TR A 2. Chemistry
(FHEET 13 W 23) - 119 (S.No. 13 to 23) - 11 questions
5. Gﬂaﬁﬁﬁ 3. Biology
(4 9T 24 | 35) - 12 9% (S.No. 24 to 35) - 12 questions
4. TR 4. Mathematics
(T 9&IT 36 A 55) - 20 ¥ (S.No. 36 to 55) - 20 questions |,
5. gfae™ 5. History
(P T 56 W65) - 10 M. (S.No. 56 to 65) - 10 questions
6. - 6. Geography
(gﬁqm 66 75) - 109 (S.No. 66 to 75) - 10 questions
7. oy s ; 7. Political Science
(FA T 76 T 85) - 10 HeA (S.No. 76 to 85) - 10 questions
8. areforey } 8. Economics .
(B <z 86 7 90) - A (S.No. 86 to 90) - 5 questions
P - 90 HeH Total - 90 questions
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For this paper, prescribed duration is
1.30 hours (90 minutes).

Answer to each question is to be
indicated by blackening, with HB
pencil, full darken corresponding
oval of correct one alternative
number by HB pencil. The scanner
will not accept the answer if the oval
is not filled completely dark if so the
candidate will be responsible for it. If
you want to change the wrong answer
then rub it and indicate by
blackening another oval.
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Now go to the next page and start answering the questions
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Work at the place meant for it.
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(3)
1. =159 95 & 956 T8 §—
Which is not the unit of Force—

(1) 9SvEs/Poundal }2),, $1g7/Dyne
(3) I@/Joule (4) =ge1/Newton

2. e (SN) T gaRer R awar 2—
The expansion of a solid body depends on-

(1) aes geref & 5@ W/ Mass of the solid only

(2) ae ueref $i HPHRY 1/ Nature of the solid only

(3) &9 uaref b A w/ Temperature of the solid only

(4) geref BT vy T 39 a9 1R/ Nature and temperature of the solid

3. [ 29 1 ya afwnal o1 7 eq §7
Which country is called the country of Wind mills?

(1) @févs/Holland
(2) fac/Britain

(3) ¥Rd/India

(4) 3mRa®T/America

4. R H WA Sl ATGNT P T areaey o
Who was the first President of Atomic energy commission in India—
(1) &ft SEFR 417/ Homi Jahangir Bhabha
(2) " ARPITE / Vikram Sarabhai
(3) 9. vH.GH. TR/ Prof. M.S. Swaminathan
(4) 9. 9ETE 18T/ Prof. Meghnad Saha

W & (Rough Work)

NTSE 13 - SAT [P.T.O.



(4)
5. oTIR awt ¥ Wz % v ahy ey -
The particles of the medium in the transverse wave move-
(1) ga®R %Y 4/ Circular Motion (form)

(2) 3UEHR WY ¥/ Oval form
(3) av aRur & fem #/in direction of the wave motion .
(4) T ARl G fae & @wrad/Perpendicular to the direction of the wave motion

6. &N H ugdd o BT -
The Lens used in the Camera is-
1) 3u® &9/ Convex Lens
2) 3gde &/ Concave Lens,
)

(

f

(3) fasd® @%/Biconvex Lens
(4) f&omade &4/Biconcave Lens

7. & %1 97 FaffeRs B 2

' Velocity of sound is méximum in—
(1) ut ¥/ Water ; (2) d® H/0il
(3) arg H/Air (4) & H/Iron

8. U dlec avI&R BT o—
One Volt is equal to-
(1) 1 9w/1 Joule
(2) 1 =ge/pom™/1 Newton/Coulomb
(3) 13@/paMm/1 Joule/Coulomb
(4) 1 pa™/=ged/1 Coulomb/Newton

% ™ (Rough Work)

NTSE 13 - SAT



(5)
9. % ed % SR 220 Al AR 60 A 17797 §INT & ToF BT HRRIY T G HafRd RT

&1 7 ST DI |

On a bulb is written 220 Volt and 60 watt. Find out the resistance of the bulb
and the value of the current flowing through it.

(1) 806.66 3M/806.66 ohm d 0.27 VfFATR/ 0.27 ampere
(2) 500 a/500 ohm T 2 ¥f¥@aR/2 ampere
(3) 200 3M™/200 ohm T 4 VFIR/4 ampere
(4) 100 3™/100 ohm @ 1 Vf¥@aR/1 ampere

10. g ¥ [aifers amaor g g-

The maximum aftraction in a magnet is—

(1) 5T H/In the centre (2) fFRI 9R/On the sides

(3) gai w/On the poles (4) eRae W)/ On the surface
11. emafy &1 7 8-

The Unit of frequency is—

(1) &51/Hertz (2) 9&/Joule

(3) a™/Ohm (4) fFa deRI/Kilo Calorie

12. YBSI SFaRel IEt Ui—

The first Astronaut in space was-

(1) . sft. d1/H.G. Wales

(2) @ e/ Neel Armstrong
(3) F& R/ Uri Gagarin

(4) ?TTC‘ Mg/ Robert Godai

W% B (Rough Work)

NTSE 13 - SAT [PT.O.



(6)
13. S PT TP Bl o—
Boiling point of Water is— :
(1) 273" K @2 0°K
3) 373°K 4) 100° K

14. ufipar, FREs gRT 19 iR FRITeR T Fs0r 3o R G ¢, Deowd! o—

The Process by which a mixture of Sodium Chloride and Ammonium Chloride
can be separated, is called-

(1) Sedura/Sublimation (2) menmhl/Chromatography
(3) arsdi@Rur/ Evaporation (4) amaad/ Distillation

-

15.  3mifem Aethe &1 97 &—

The formula of Ammonium Sulphate is—

(1) NH,SO, (2) (NH,), SO,
(3) NH,(SO,), (@) NH,(SO,),

16. flt aca & weenfaa F & 8-
Isotopes of an element have-
(1) &M e 707/ Same Physical Properties
(2) =1 It o1/ Different Chemical Properties
(3) =ggi=a &t fi=1 g/ Different No. of Neutrons
(4) =1 gz i/ Different Atomic Number

W% Bf (Rough Work)

NTSE 13 - SAT



(7)

17. R a TSI acd x99 arg i Sufefer 3 7+ fam Siar & o ot uaref 'y’ g
g, T W eggoM N yaifkd vt )R g: x’ W dar 1 x’ @ik Yy E-

A Brown and bright element "x" when heated in presence of air turns in to black

substance "y". If Hydrogen gas is passed over this heating material again "x" is

no.mn

obtained. "x" and "y" are-

(1) PR 3R PR Sergs/Cu & CuO
(2) e iR HewR SRRiTIEE/S & SO,
(3) A 3R P srg3aTES/ C & CO,
(@) s iR Aifesw ggggs/Na & NaH

18. forddt Serd Risa= @1 Py 8aT -

Pu of any neutral solution is—

(1) 0 | @ 1
@) 14 @) 7

19. U arerg ST g 3@ ¥ urg ot 8, 8-

A non metal, which is found in liquid state is—

(1) &F/Bromine (2) amare/lodine
(3) affadtsT/ Oxygen (4) @&/ Carbon

20, - B R St oTe freaw @t Ao @ 3ar 8, $t Py anfi-

The Pi of a solution which turns red litmus Blue will be-
(1) 1 2) 9

(3) 4 @4) 5

% &1 (Rough Work)

NTSE 13 - SAT [PT.O.



(8)
21. amf &1 Fr & § P sodNe R w8 8-
Which of the following is correct electronic configuration of Argon—
(1) ‘2,8 2) 2,8, 8
3) 2,81 4) 8,28

92, T xR e ot ¥, x Cl, a1 FHRIES S 8, JHawd WOl H 78 e
fohRT THE & SRl BNT—

Element "x" which is solid and having high melting point, forrn a Chloride
"x Cl,". This element "x" would be in which group of Periodic table —

(1) @fega/Na (2) #HfirrT/Mg
(3) uwegffEH/Al (4) Rifesepr/Si

23. W9 &1 anfoass I3 "CH," 8, 399 8-
Methane with the Molecular formula "CH," has-
(1) 4 gegam® 94/4 Covalent bonds
(2) 8 wEwAe 9¢1/8 Covalent bonds
(3) 6 GEgamid 94/6 Covalent bonds
(4) 2 gegard g4/2 Covalent bonds

4. I S UIEY BIADBT DI S PIABT | AHT Bl &—

Cell organelle which differentiates plant cell from animal cell is-

(1)  pifdrr fereet/ Cell Membrane
(2) toresa/Plastids
(3)  &f<®1/Nucleolus
(4) Rferind/Vacuoles

% & (Rough Work)

NTSE 13 - SAT



25,

26.

27

28.

(9)
YT U HPR T [l Fareh & R e orel} 2=

Blood is a type of connective tissue, which has—
(1) @ R Hidep/R.B.C.
(2) 93q BfeR Brepd/W.B.C.

(3) wicaed/Platlets
(4) Tera wft/All of the above

s w1 w8l @ @il g 2-

Bile Juice is secreted from-—

(1) @R IR/ Salivary glands
(2) @ TferT/ Intestinal glands
(3) 319 /Stomach

(4) TFa/Liver

I # 59 Irdar gedt &, a9 a’ramm:wmﬁaﬁmé,as%—

When acidity in Stomach increases, the medicine generally used is—

(1) @M &1 Frer/Sodium bicarbonate

(2) e |rer/Sodium Carbonate
(3) M ®EHe/Ammonium Carbonate
(4) eI aTgEie/ Ammonium bicarbonate

R fORT &f f <t T & 9w 3

Planeria is kept in which group -

(1) ¥idoer/Coelentrata (2) wielefe=a51/ Platyhelminthes
(3) ferer/Nematoda (4) uHifeseT/ Annelida '

% ™ (Rough Work)

NTSE 13 - SAT

[PT.O.



29.

31.

32.

(10)

=T & 9 S SRETSET BT SR B

Which of the following is an example of Brayophyte—
(1) ¥i’/Moss (2) @ /Fern
(3) urg"d/Pinus (4) 9915/ Algae

. ugl), o, &, v, af, o @), e, o, ord 2 98 2

Dissimilarity found in Aves and Mamalia is—

(1) wf sfeRyR} uroft/ Warm Blooded Animal
(2) oS < &/Lay eggs

(3) @uT HUHYH aRT/Breathe through Lungs
(4) =R P& g3/ Four chambered Heart

yeref S Tqa} qiwor % fo5u snaeasd &—

Substances necessary for autofrophic Nutrition are—
(1) e Srganiags 9 urHl/CO, and H,O

(2) uvfgRa /Chlorophyll

(3) ¥ @1 "emrer/Sun light

(4) Sa gt/ All of the above

¥ 219 O SUBRUT W AT WIdT 8, 98 2

Blood Pressure is measured with an instrument called—

(1) emiel/ Thermometer

(2) vRr=pIu/Stethoscope

(3) M AR /Sphygmo manometer
(4) aifene emffier/ Clinical Thermometer

% B (Rough Work)

NTSE 13 - SAT



33.

34,

35.

36.

(11)
ST ¥ FHT I IR F—
Phloem tissues in plants are responsible for—

(1) S &I Hegg/ Transportation of Water

(2) IS @1 Wae/ Transportation of Food

(3) erfiH 3P @1 Hag/ Transportation of Ammino Acids
(4)  SffefIST @1 Hag/ Transportation of Oxygen

R dtell § @R wraef o o #, 3§ §-

The plants in which vegetative propagation is found, are—

(1) arfhe™/Brayophyllum (2) =I1/Sugarcane

(3) 7@E/Rose (4) SFa adt/All of the above
[*r=1 % & Y urey eRA A &

Which of the following is not a plant harmone-

(1) 3fif/Auxin

(2) RreRfe=1/Gibberellins

(3) @A/ Cytokinin

(4) ufgafe1/ Adrenaline

PR y = x? - 3x - 4 § I T AT B Py B
Graph drawn from the equation y = x? — 3x — 4 will be-

(1) gumer/Circle (2) 9adT/Parabola ©
(3) el @1/ Straight line (4) srfa=aea/Hyperbola

Y B (Rough Work)

NTSE 13 - SAT [PT.O.



37.

38.

39.

| (12)
‘a’ 3R ‘b’ & T 71 % g, =T WRaep weliepvult & T & SruRfid HY F 3 & 8-
2x+ 3y =7, (a-b)x + (a+b)y =3a+b-2

For which values of ‘a’ and ‘b’ does the following pair of linear equations have
an infinite number of solutions—

2x +3y = 7, (a-b)x + (a+b)y =3a+b-2
(1) a=5b=1 2) a=4,b=2
B a=1b=5 4 a=2b=4

g b2 — dac > 0 & a1 foEmd FiaRw ax?+bx+c = 0 & @ &-

If b2 - 4ac > 0 then the roots of quadratic equation ax?+bx+c = 0 is—

b  +b%-4ac b  +b?+4ac
(1) =—& ——-— () =

2a 2a 2a 2a

b Jb? +4dac b vb% -4dac
B —=t———— (@ =

2a 2a , 2a 2a

el e Soft & R sk @ vel @ A 6§ SR TS 8 ¥, AR B

The sum of the third and seventh terms of an A.P. is 6 and their product is 8,
then common difference is—

(] &1 (2)

H

2
2
4

I+

IF Hd (Rough Work)

NTSE 13 - SAT



(13)

40. o 3mpfa § e ABCD # afs AB 11 CD & af x &1 A1 &RT—
In a given figure in trapazium ABCD if AB Il CD then value of x is-

C

29 8
(1) 3 2) 29
1
(3) 20 @ 55

41. ale (x, 0), (0, v) T (1, 1) forg g &1 @) == BFTI—
If points (x, 0), (0, y) and (1, 1) are Collinear then the relation is—

—

2) x+y = xy
4) x+y+xy =0

(1) x+y =1
B) x+y+1 =0

m]& -

42. 3fe Sin(A+B) = —\/2—5-, Cos (A-B) =

T HI9 BTT—

If Sin(A+B) = iz—?’- Cos (A-B) = %_-3-

value of A and B are—

1) A=45 B =15 2) A=60’, B=30"
3) A=0° B=30" 4) A=30°, B=0"

g 0<A+B < 90, ASB I @TAdB

and O<A+B < 90, if A>B then the

I B4 (Rough Work)

NTSE 13 - SAT

[PT.O.



(14)
J
43. Jf F ST o gg 0” F 90° 7 A W et HAR Y WoTE B = 3 uRegel 2T

If the Angle of elevation of sun increases from 0’ to 90’ then the change in the
length of shadow of Tower will be—

(1) weTE 5 HIE uRad= 9&f 8/No change in length of shadow
(2) uwoTg & G 99t /length of shadow increases

(3) uworg & FwIs gt /length of shadow decreases

(4) worg = & Smeft/lengh of shadow will be zero

44. @ i b1 aReEY g g9 b aRfe aR1aR Y, T & @1 85 12 1m? B, A1 I Bl &S B—

The perimeter of square and circumference of Circle are equal, the area of square
is 121 m? then the area of Circle is—

(1) 7 im? (2) 14 m m?
3) 21 © m? (4) 49 © m?

45. it U are v MarT 14 3. It a1e U g S 5T $ PR BT ¥ | AT EBR |
RRI &1 g 4 I T 2 A, €, 39 fior & erRar erfi—

A drinking glass is in the shape of a frusturm of a cone of height 14 cm. The |
diameter of its two circular ends are 4 cm. and 2 cm. then the capacity of |

glass is—

1) 102 L 2) 102 S y
(1) 5 cm (2) 3 om

3) 101 £t 4) 101 2.

(3) 3 om (4) 3 cm

Y% B (Rough’ Work)

NTSE 138 - SAT



(15)

46, [Pl IRARAT deT BT H1EAS 525 ©, TAT dgAd 500 & Al q1eF BNl

The median and mode of a frequency distribution are 525 and 500 then mean
of same frequency distribution is—

(1) 75 (2) 107.5
(3) 527.5 (4) 5375

47. wifear Rigra R amamRa “The Book on games of chance” J&d® & o o—
The author of the book “The Book on games of chance’”” based on probability
theory is—

(1) . @red/d. Cardon

(2) 9IRTH. gsagd/R.S. Woodwards

(3) dl.od. @/ PS. Laplace

(4) 9.2t w=f/PD. Pherma

5
48 mﬁiazﬁrqﬁﬁmﬂmm—

5
Rationalising the denomenator of B35 iS—
(1 [%J(ﬁ“/g) @ |- %}(«/ME)
5 ([ §5)
@ (5)3-+5) @ |-3)(V3-5)

% ®  (Rough Wgrk)

NTSE 13 - SAT ' [PT.O.



(16)

2100
49, —2* EﬁTW?Fﬂ— _
100
Value of —?2-— [
1y 1 2) 50'"
(3) 2% @) 2%

50. s fomg ¥ el oy farg a0 oo fobartt Weft Rad @it S Facht 8-

The number of Straight line drawn from one point to any other point are-
(1) 4 2) 3
3) 2 4) 1 -

51. RAMREFaRkPQ ST, £ PQR = 110", Z RST = 130°d Z QRS &1 4T &l

In a given figure PQ 11 ST, Z PQR = 110’ ,Z RST = 130° then value of Z QF\S]
is— ;

S . |
130°
B Q
110’
R
iy 20 2) 50°
3) 60° 4) 70°

% B (Rough Work)

NTSE 13 - SAT



(17)
52. ot e Tt % PO 6 RIS ST PR T & 98 -
The bisectors of angles of a parallelogram makes a figure which is—
(1) 3mgd/Rectangle (2) gda/Circle
(3) u=YsT/Pentagon () GTE‘ﬂGf /Octagon
53. g9 ¥ | T a1 Pl et 8-
The Chord of maximum length in a Circle is called-

(1) fsar/Radius: (2) =9/Arc
(3) @™I/Diameter (4) fa=g/Point

54. fdt Ayt ABC Rradht et 24 #t., 40 #). @ 32 =Y. & a1 &5%e arm—
" Area of triangle ABC whose sides are 24 m. 40 m. and 32 m. is—

(1) 96 m? (2) 384 m?
(3) 43 m? (4) 192 m?
55. U & iy oo bl aHYE 4.4 H1.2 & A smaR & fwar 0.7 ). 8 a1 g gl (SEr
22
T = 7 )
Curved surface of right circular cylinder is 4.4 m? radius of base is 0.7 m. then
the height is (Take ™ = 27—2)
(1) 14./1m. 2) 2./2 m.
3) 3#./3 m. (4) 44./4 m.

% ®dd (Rough Work)

NTSE 13 - SAT [PT.O.



(18)

56. SI=IR-HwcR o {707 fohae s o ?
. Who built Jantar-Mantar ?
(1) warg Saffe/Sawai Jaisingh
(2) fasif o saffE/Mirza Raja Jaisingh
(3) <o 748/ Raja Mansingh
(4) wa Rfe/Pratap Singh

57. ‘'fa e’ & w@far 97
Who was the author of “Geet Govind’’?
(1) ¥RTeR/Sarangdhar
(2) S”IRg/Jaidev
(3) #ee’T/Madhodas
(4) feert/Bihari

58. ST ot anIRy fbw 1S o R §72
Kaila Devi Sanctuary is situated in which district?
(1) 3aR/Alwar-

(2) $RY¥/Dungarpur
(3) @IS/ Karauli

(4) S<agR/Udaipur

% &1 (Rough Work)

NTSE 13 - SAT



61.

(19)
-7 & fo5q JIq: SRvarT or?

Who was mainly responsible for “‘Bang-Bhang”?

(1) @i feed/Lord Litton
(2) ol Rua/Lord Rippon
(3) IS #PI3/Lord Meuchale
(4) 1< Pot/Lord Korzen

1913 ¥ SET s Hlewh A fhed g8 oft—
In 1913, Dada Saheb Phalke made the movie-

(1) =9a/Basant

(

(2) < eRe=/Raja Harishchandra
(3) omFrEl/Anari :
(4) UgT e /Paying guest

e @ &2

What is Gilotin ?

(1) @RI P @ /Mine of Coal

(2) =Fa 9fwaT/Human Settlement

(3) g wefF/Death Machine
(4) TFTFaRd $N/Shifting Agriculture

TaTE AR U Sa R 8-

Massai Mara national Park is located in-

(1) ¥rRd/India (2) urfdea/Pakistan
(3) ¥sF/Sudan (4) =ar/Kenya

% 1 (Rough Work)

NTSE 13 - SAT ' " [PT.O.



63.

64.

65.

(20)

b dt Wit Ty fha < 3 uee g ?

In which country first time the cultivation of opium begin?
(1) gchm&/Portugal

(2) YRd/India

(3) @ /China

(4) f3e1/ Britain

e faeayg & 918 et Afer St or et g ?

Which treaty was imposed on Germany after first world war?
(1) agafa/Versailles
(

2) 9R/Paris

(3) fRFT/Vienna

(4) o</London

YRd | UgaT fohepe Tord foheam @let 2

Who opened the first Cricket Club in India?
(1) 37T/ Britisher

(2) f&=/Hindu
(8] urlt/Jurestreian

. (4) 3aeHE/Muslim

T dd (Rough Work)

NTSE 13 - SAT



66.

63.

(21)

"B R 87
What is “Barkan’?

(1) 3 & 2 @1 9™/ Name of Sand dune
(2) i @1 =1/ Name of Village

(3) U @1 ArF/Name of Tree

(4) uda @1 9/Name of Mountain

57 I5T T T B! HISER Bl STl 82
Which state coast line is called the Malabar?

(1) 7orrd/Gujrat (2) @/ Kerala
(3) oI/ Rajasthan (4) ufees svTes/ West Bengal
RUTeFR AR R 8-

Ranthambore is situated in—

(1) R/ Rajasthan

(2) 3r0UTES Weel/Arunachal Pradesh
(3) 3raH/Assam

(4) =ew wee/Madhya Pradesh

Ao S T qRT A B
The full form of C.N.G. is—

(1) FeUS 99%a ¥/ Compound Natural Gas
(2) @irhad AgRe 1/ Complex Natural Gas
(3) @mureUS =Y 1/ Compound New Gas

(4) WS YRS 1/ Compressed Natural Gas

W @14 (Rough Work)

NTSE 13 - SAT [PT.O.



70.

71.

T2.

73.

(22) -

@R Bl IR 8-

The ore of iron is—

(1) &9eEe/ Haematite
(2) I/ Uranium

(3) dirarse/Bauxite

(4) fowerge/Lignite
IRA H fFmgurd 8-
Gender ratio in India is-

(1) 880/1000 (2) 940/1000
(3) 300/1000 (4) 400/1000

WEST-AMe GRS fbet et R e 87
Bhakra-Nangal Project is situated on the River?
(1) e/ Satluj

(2) gmsTr/Tungbhadra

(3) - gMer/Damodar

(4) #H1El/Mabhi

g it TR AT AR § e BR] §3T?
When was “Indian wildlife Protection Act” implemented?

(1) 1970 (2) 1972
(3) 1974 (4) 1976

% & (Rough Work)
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75.

16.

i

(23)

GR gt $ e 8-

Salty Water lake is—

(1) SoE 3o/ Jaisamand lake
(2) worETE #ie/Rajsamand lake
(3) Srsamr #fie/Didwana lake
(4) TUNTR #0e/ Gapsagar lake

oftd g 9 8 aret anf &1 FaT AT &

The Rainfall that occurs during winter season is known as—
(1) HAFgA/Monsoon

(2) =hard/Cyclone

(3) a9 g9f/Mango Shower

(4) 4rEaa/Mavath

TR BT G AFIRE B 8T 872
Who is the first Person of India ?
(1) 9=t/ Prime Minister

(2) wPufy/President

(3) ~auTes/ Governor

(

4) 7&g9Hl/ Chief Minister
e 7 | T 391 YA WY T vl der Adt 8
The Country that is not permanent member of United Nation Organisation is?

(1) %9/Russia (2) fdeA/Britain
(3) = /China (4) YRd/India

% 6d  (Rough Work)
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(24)
78. ‘g & I ¢ Frew’ fheht e &2

“The long walk to freedom” is autobiography of ?

) 7 9UsaT/Nelsen Mandela N
2) were aeft /Mahatma Gandhi

)

)

&1 3NaTT/Barak Obama
JIHAT 999/ Amitabh Bachchan

79. 'IER Gfedr’ &1 G by 8

“Code of conduct” is related to ?

(1) 3J&/War

(2) uRasT/Transportation
(3) e/ Cereals

(4) gra/Election

80. "I & fHR IrfAf M’ & ararfa B WRBR A GIAT 1T FehdT 87

Who can seek information from government under ‘right to information Act’™?.

(1) @i +ft 7R/ Any Citizen

(2) %I BRI 1fER/Only Government officials

(3) s Bl H Faffed ¥ewI/ Only elected members of Loksabha

(4) &I Ram @ 7 Faffad ¥ew/ Only elected members of Vidhan Sabha

81. WRd Gfder i aredf srget # frat v 82
How many languages are there under article 8th in the Indian Constitution?
{ly 22 2) 20
3) 25 4) 15

% 0 (Rough Work)
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84.

85.

(25)
IINh IR Pl AAMIDR 7 AT 397 & Ugay 297 &7

The first nation of the world which provided adult franchise is—

(1) 3mRa®1/America

~ (2) 9Rd/India

(3) 3refiss/Brazil

(4) " =gefidvs /Newziland

=1 o A fh 391 F U ST crawen egaTE WS 27

Which of the following Country has adopted the one (single) Party System?

(1) 9Rd/India
(2) 3mRaT/America
(3) mu/Japan

(4) =¥ /China

TR TR BT P T P g7

In which year Indian National Congress was established?
(1) 1889 (2) 1885

(3) 1985 (4) 1905

1 & A v g uyr e &7

Out of the following which is not a union territory?

(1) 9ga&/Puducherry

(2) =vEg/Chandigarh

(3)  ET/Goa

(4) <®9 9 §9/Daman and Div

W B (Rough Work)

NTSE 13 - SAT F g [PT.O.



(26)
86. IEIF AUl AR TRET JAf&FHIH el IR gor?

When was the “National Rural Employment Gurantee Act’ Passed?

(1) 2001
(2) 2003
(3) 2005
@) 2007

87. itStd. w82
What is GDP ?

(1) TPs e Iaed/Gross Daily Production

(2) WP TR, e/ Gross Domestic Production

(3) e bve Aferel/ Gross Domestic Power

(4) \Ps Qe e/ Gross Development Production

88. Rd A ¥ Ui fRad 9 AR ST 82

When is the National Consumer Day celebrated in India?

(1) 24 f&¥ar/December, 24
(2) 16 Ryamax/September, 16
(3) 8 #mE/March, 8

. (4) 25 5g/May, 25

% o4 (Rough Work)

NTSE 13 - SAT
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89. SFIUMT 2011 %awmﬁﬁwmav%?
According to Census-2011 the literacy rate of Rajasthan?

(1) 48.34% -
(2) 54.90%
(3) 67.06%
@) 74.04% )
90. R ¥ 3Mfefch SRR Ft Yoard Hi o § gg?

| In which year did the Economic Liberalisation start in India?
(1) 1991
(2) 1996
(3) 1999
4) 2004

G Hrf (Rough Work)
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